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il wRE 2Dl Meb-i gl

> fa < 1:100) [
[1] 1 2 a 4 b 3 7 3 4 10 11 12 13 14 16 16 17 18
[19] 13 20 21 22 23 24 28K 28 27 23 23 30 31 &8 3% 34 3R IE
[37] a7 a8 339 40 41 42 43 44 45 46 47 48 43 B0 R1  R? HY R4
[66] &5 &HE6 &7 5658 EH9 &0 61 &2 B3 64 B5 BB BY B3 69 0 71 7F2
[7a] 73 4 35 76 37 784 79 80 81 82 83 44 85 86 87 88 89 190
[91] 91 92 93 34 45 396 497 9% 99 100

» jz.vector(a)l

[1] TRUE

»ola €- 1)

[1] 1

¥ jz.vector(a)

[1] TRUE

» iz.doublela)

[1] TRUE

* rnorm(4)

[1] 1.014334 1.123080 -0.953888 1.2294495

»oexplrnorm(4))

[1] 2.1525906 2.41933886 1.7072813 0.4410082

oexplmatrizCrnorm{4), nrow=2))

[.1] [.2]
1,] 0.8210919 1.7972235
2,] 0.2584302 0.2221933
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» class(iris) . - - ﬂ
U] “data.frane” ris, iris. sV ENENRLEIIAA T I MM

[ 150 5 summary AV yRIEZENZENITSCI-E8%ET 3

> zummarvliris)

sepal.lenzth sepal.Width Fetal.Length Fetal.Width SpeECiE

Min. =4 a3l Min. = Min. =0 Min. sl 100 setosa =5
1=t Ou.th: 1101 1=t (o2 800 121 =1 :601 1=t Uu.c0.akl MErsicolor:hll
Median :H.800 Median :3.000 Median :4.350 Median :1.300 S e
Mean H,845 Mean s 057 Mean R Mean 1,198

drd [ = E A Gilan M0 = Srd B sRE 00 Sl P

Max. e L. 8010 [} sl L1 Max. =6, 200 Maw. e aln
> irizs.svm <- svmSpecies 7 |, data = irisg)

> oclazs(iriz.svm)
[1] "svm.formula® “=wm Species# B HIZ#1. irisT—4tvhk

> ogummary(iris.svm) ZFNLISESBR T
ELTHE TNAEINKETRFENEND

cal | = i - data = iriz) BERST=EEDMEICHEE

symifarmula = Species ‘s
Parameters: -Ij-7|_3_|‘/\7/)77:/.\/(SVM)
SWM-Type: C-classification HEMBYEEEZ1TOEANFEED
E"."I'.'I-Hernel: tadial —. %@linn*ﬁb‘%&gﬂi%_g :l

cost: 1
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[1] Yiris.svm best.=svm W0 tune.svm write.svm
[ A
help.zearchisvm™ )

>
» helpiplot. ) N
> h:asﬂgef%ﬁ;;ﬂhnd{”lﬂnt”, “svm® ) LIEZF“WJ.L[”~ &F#l)‘Jl‘b\ﬁ)é
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function (x, data, formula = MNULL, fill THUE, zrid = &0, E|ICE = |ist(),
symbolPalette = palettel), svSvmboal “%", dataSymbol =

1

2

3 e = o

E IyF. EOBBD5IHELTHER
k

>

if (x$tyvpe < 30 SVM classification plot
if (is.nulliformula) &% ncol({data) == 3) {

examplelplot.svm) -
oo a A
IR R Information mma o - 5
p— - e % =
:"?’f.-ll-' ﬁ'ﬁ% ! B a o
L EGEE @
plot.svmiell?1) Flot S¥M Dbjects ]
predict.svmiel071) Predict Method for Support YWector Machind £ 157 .
svmielly1) i o — = | 3
tune.wrapper(el071) InSERAlTRR =" 4 i 3
write.svmiell?1) Irill iRE he|p(p|otsvm)0)%n% \o - N
ll plot.zvm package:ellyl ]
Plot S%M Objects 05 a i %
plt.sv: 14 MOT | oot ion: o 0 E
B0 O
ll . RO O
Generates a zcatter plot of the input data of a - - - - . _—
classification models by highlighting the claszse ’ 2 3 1 5 B
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el wRE EO Meb-3 AUlT Mienettes

» datalaffvbatch.example)

» show(affvbatch.example)

AffvBatch out-of-date: consider "updatelbjecti{<affwBatch:)’
AaffwBatch object

size of arravs=100x100 features (7 kb)

cdf =cdfenv.example (160 affwids)

number of samplesz=3

number of genes=151 DNA?’(ODTI/’fﬁZIJ:*ﬁ'O)

annotat ion= <~ -
notes= i’%fR(iM‘ZE\
» imagelaffvbatch.example)

- UEEFRRT D E TP, .

> hist{affybatch.example) =
> Waplot {affvbatch.example) TIPSR T a————
i ' [ Medsan: 0 [ Median 0 200]
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D0 A e praLuSo-masian mieesce chip SR v praudSo-masisn efeesce chip
Medlan. -03.212 = Median: 0

i ICHR: 0,323 . IgR: 0
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